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Certainly, that you added — NERYTW w92

OVERVIEW

12197 derives from a wp° that just as 7°m had a 7%mna 7v°7, similarly by xw
a monna Y7 is required and therefore a 7awiw PN is j27pn WS, So Y™
challenged him that » 2 should also be required to have a nwy»n nywa 7y,
just as 7 has, to which 1217 replied it is indeed certainly so. nBOIN
disabuses us from the notion that 121% is 2°°1» only when there is a 7y
owyn nYw3, but not by a M3 AW

mooIn explains that the meaning of noowIW W"d is —
— 2NN 1N GNRT ©IVNIPA Y9TD

As 3"w1 explained it; that also in this case (where he had knowledge of the

TO°X at the time he transgressed it) he is liable for a nxvn 1277 -
— VYN NYVA NPT NIT 99 919 29911

However, he is also liable when there is no knowledge of the prohibition
when he does it (when he is a complete 2nWw).

mMdoIN proves this point (that there is a NXvR 27 for a ‘regular’ Aw).!
—>naw 91039 9997 535111 2123105 2920 YWIPY W 1IN Y39 NNT

For °"2 and %"= agree with tam» (regarding a mawiw pin) and

nevertheless they are 2°m» a nxui for one who was o® 71929 99557 (who has
no 7v>7 at the time of the MOX).

moon offers an additional proof:
— 25975 1Y 1929PMY NN MIND INIVY INT AT Nt DY 41):‘,75 ) NI

And we also learnt in a Xn> 2 later; ‘if he was mistaken in this (he did
not realize it was naw) and also in this (he was unaware that this 79857 is
7oR), this certainly is the v which the 790 is referring to (which
requires a NXvM 1272).” This concludes the Xn>72. And the X 13 establishes
that this Xn»72 is according to 121, It is evident that (even) according to 121 a

! Seemingly we could argue that since 1217 derives 3w from 7T that a 72nn» 7°7 is required, and he also
derives 22w from 7°1 that he is 2°11 (even) if there is a qwyn nYwa 7v°7°, so perhaps indeed 1211 maintains
that you are only 2’1 when there is a 7¥°7°; otherwise if it is a ‘regular’ 22 there is no nXwr 21°7.

% See the X shortly (on this T1n¥) which states 12173 7187 1R (and 72R 7"70).

? See the X ma previously on this Ty,

4 x,vo.
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‘regular’ 2\ is 21 a 127p.

mdoIn explains why indeed this is so:
— NN N9207 0IVN NIV 1M

And the reason for this is because it is logical —
- TIY TIYNRYNN 1Y SPIARY TY INY YPIIN NI

That the wps7 of 22w to 791% was not meant to extract from the meaning

of s -
— VYN HYVA NPT 1Y 19T YNYN INIY NaAITINT

For on the contrary the word »m2 means that there was no knowledge of

the Mo°R at the time he did it -
— “Auyn NYWa AT 159 NN 9 M) MY NN NYPIN NAIN N9

And the w7 is not coming to dispute that, but rather only to hold him
also liable if there is knowledge during the act of transgression.

MooIn asks:
— NAYIY PN RYPINN 2909 NNT PNYY 13939 nYP 1N

However, the v''= has a difficulty; for 5" >" 7211 exempt a 72w PN
from a nRvYn based on this WP (of Mm% W), therefore -
HoY 910291 9991 NVD? 33 NHPYY INDN

From this very same reason "1 °"1 should also exempt a now 110291 99277
from a 127p. What is the difference between the two of them?! n1901n does not answer this
question 8

SUMMARY
The wp 71 cannot exclude the simple meaning of 2w.

THINKING IT OVER

The "1 asks that maw 710391 1°377 should be mws.” However, maw 710291 19°7
1s (seemingly) a regular 22w, and MdOIN explained that a regular 22 1s 271,
so why should a mow 710271 12971 be Mo 2!

> Why do we not follow the argument presented in footnote # 1, that there must be a 7wy» Nywa 7v°7?

% The wp> has the ‘power’ to add to the simple meaning of the word 'saw' (and include Twyn Nywa 79°7),
but it does not have the power to detract from its simple meaning (and exclude a »w).

7 See “Thinking it over’.

¥ See “Thinking it over’ # 1 in TIE 928 7"7n. See 2"0.

? See footnote # 7.

"% See mama M.
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